it
W
>
%ujll
T

. TEHE4
THE4 0 6 AR FERATTHERF HIRFTS WA FRIVESE
THH4 JE5 AR VR 22 e T 75 A2 T ~ S5 AR SR AT T 2R T M
2. THEHNE
1)  HE4 PNTEESEET SPRE 3
2) F I f& B RRHERF T
3) T #] 264 H [ H A 64 48 1A
£ AF 64FE12H20H
4)  TEHEAgEE

Ebacimd T E T R



HHEN

ﬂ}lljll
T

TH4 | B 6 ERATTHER HH R AT PR AS & BV ESE

TEHEXSy « TFE - F% BN o B 4 il il 2! B
B B HERR = 1 11,297, 911

FEFMERF T =Y 1 7,276, 411

IR ZABEHT = 1 7,276,411 |BIAREAE 7
EA HAEEM #E30emAw ;

BIAYAE 6
mA TAEEW #JE30cmEl F60cmAT ;

BIAYAE 6
BA HAEEM #E60cmll E90cmAH ;

BIAYAE 6
EA HAEEM #E90eml E120emAlH ;

BIAYAE 7
AR B AEAH BE30emAH ;

BIAYAE 6
BA HAELH #E30emll E60cmAH ;

BIAYAE 6
EAR HAELH #)E60cmll E90emAH ;

MIAREAE 6
EAR HAELH #)E90emEl E120emAH ;

BT AT 1, 900
R B AEMREE #E100embl £200emA
il

BT AT 400
R B AEMFEE #5200embl £300emA
il

FHHE AU TE 500 m2
FAE A ;

TR AE 4, 500 m2
HATE BA ;

PR B AL 15, 000 m2
A ZHL 1000m2LL = HEA X FEYE GRE RO
)

fBt At AL 25 A

S R S S S S S < S 3

Pt

-1- Ebacimd T E T R




%

HHEN

=+
=

T
P=s

TH4 | B 6 ERATTHER HH R AT PR AS & BV ESE

TEHX4 - LFE - Fj A ¥ & 4 KA gl bl N 7
A RRIE B oK - A BEE 200emA
FEF A A 20 VN
A RRAEE B K BHE 200emPh E300cmAg
T s
PR - hE AR 100 m2

BRNEEL TR PR 100m2 LA 11000m2A
Tt PRI BEYE GRE R O R)

WK 1, 000 m2
%155 10 N
MEPELA i ARERE60cmAT M 104 LA _E50A AT
WFRT ORI E M A RVEZEAIE M g X 2
e (HRE
%155 10 N
MEPELA EAREE60cmll F120emAi 104524 F
SOAKIM WA M R RMESE M IE S it
AR
%155 10 i

MEPELA AH E 100emBL_E200emATE 10424
EBOARA RSO EME A& VESE A E
BEH X[

%155 10 i
MEPFLAI AKAHE 60cmaAw 104LL 504
IR RO AT IE M IR EAR B g XA A%
e (HRE

e Sl i 800 m2
MEPELA| FFAE (KK 100m2LL F1000m2AT; it
X[H AEHE G R OB E) |

ekl 20 N
HORHTE 100emPA_E200emsRi AR 104D
HARRT S 100emPA_-200emsAl 1040 504K
T s

ALy Hy 250 m3
KT

-2 - Ebacimd T E T R




TH4 | B 6 ERATTHER HH R AT PR AS & BV ESE

TEHX Sy - TR - R HZ B & & G pall 7

WREL T X 1, 827, 000

HE KR T = 1,827,000 |iEMEBRE (BE) 10, 000 m2

R EAL Sy 10, 000 m2

L
& L =X 2, 194, 500
ARIEE BT =X 2, 194, 500
R g = 11,297,911
B = 2, 251, 000
B = 323, 000
BGREE (B = 323, 000
k(K5 L) 2V 1, 928, 000
IR ¢ = 13,548,911
ek Xtk 2V 6, 810, 000
TR = 20, 358, 911
— R PR 2V 3, 881, 089
T Afids = 24, 240, 000
-3 - EtrEs  PE R




